Instruction dataset

This short instruction has the purpose of supporting its use.

· Check whether all legislative instruments are still in force. It is in this context important to acknowledge that favoured sets of legal instruments fall out of favour, to be replaced by different ones. Typically, this involves processes where legal instruments (such as conventions) are complemented by protocols focused on related but specific issues. These processes can be observed among norms as well; some are repeated in a way that leads to them becoming unifying principles, while others slowly become less popular, or are not used at all. Given the importance of these processes, in our analysis we view each legal instrument as ‘legally autonomous’.
· This is a citation network which means that there is some limitation in terms of how it can be used. A main limitation is that a citation network has directed links, which show one-way flow of information or influence from node A to node B. A citation does not say anything about or presume the existence of the potential flow of information/influence in the opposite direction from node B to node A. We note that in the treaty context, citations often mean information flows in both directions, so in our analysis, we have assumed citations as bidirectional links when applied certain network analysis measures (i.e. betweenness centrality).
· The dataset needs to be transposed, which means to swapping its rows and columns so that the rows become columns and the columns become rows. The reason is that the dataset is coded horizontally as this was easier when coding manually. As you will see from the dataset, node 27 (Water Framework Directive) seem to cite node 28 (the Marine Strategy Framework Directive), which is impossible as the Water Framework Directive was established before the Marine Strategy Framework Directive. The dataset needs to be transposed.
· To check whether the dataset is accurately transposed, when visualising the network through Degree Centrality, an agreement that was cited a lot, should appear as a big node.
